
 

 

lsV&lsV&lsV&lsV&I    
Model Question Paper izk:i iz’u&i=izk:i iz’u&i=izk:i iz’u&i=izk:i iz’u&i=    

tho foKku  Biology (Optional) 
Okkf"kZd baVjehfM,V ijh{kk&2020  

Time Allowed : 3 Hours                            Max. Marks -70;     Pass 

Marks – 23 
 

Candidates are required to give  their answers in their  own wards as far as practicable. 

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 
General Instructions : lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k 

Q. Nos. 1 to 10 and 19 to 28 are Multiple choice/objective Type each of 1 mark. 

iz'u la[;k 1 ls 10 vkSj 19 ls 28 rd cgqfodYih;@oLrqfu"B iz’u izR;sd 1 
vad dk gSA  

Q. Nos. 11 to 13 and 29 to 31  are very short Answer (VSA) Type each of 2 Marks 

iz'u la[;k 11 ls 13 vkSj 29 ls 31 rd vfr y?kqmÙkjh; iz’u izR;sd 2 vad 
dk gSA 

Q. Nos. 14 to 16 and 32 to 34 are short Answer Type each of 3 marks. 

iz'u la[;k 14 ls 16 vkSj 32 ls 34 rd y?kq mÙkjh; iz’u izR;sd 3 vad gSA  

Q. Nos. 17 and 18 and 35 to 36  are Long Answer Type each of 5 Marks.  

iz'u la[;k 17 o 18 vkSj 35 ls 36 nh?kZ mÙkjh; iz’u izR;sd 5 vad dk gSA 
  

This question paper consists two Section A And B. 
bl iz’u i= esa nks [k.M gS v ,oa cA  

All sections are compulsory lHkh [k.M vfuok;Z gSA  
  

(Botany)  ouLifr foKku  

Section – A 
                                                                                               Total Marks 35 

Group A [k.M&v[k.M&v[k.M&v[k.M&v  
 (Multiple choice/objective Type question) ¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½    

Select the correct answer lgh mÙkj dk pquko djsa           lgh mÙkj dk pquko djsa           lgh mÙkj dk pquko djsa           lgh mÙkj dk pquko djsa           1111×10101010=10101010    
 

1- fuEufyf[kr esa ls dkSu ls taxy ^^i`Fohxzg ds QsQM+s” dgs tkrs gSa\ 
Which of the following forest is known as the “Lungs of the planet earth”.   

 

 (A) VqaMªk ou Tundra forest        
(B) vkestu o"kkZ ou Amazon rain forest 
(C) VSxk ou Tiaga forest       
(D) mÙkj iwohZ Hkkjr ds o"kkZ ou Rain forest of North East India 
 

 

2- viw.kZ izHkkfork ds thuksVkbfid ,oa fQuksVkbfid vuqikr gS %& 
The genotypic and phenotypic ratio of incomplete dominance is :-     

 

 (A) 3%1] 1%2%1         (B) 1%2%1] 1%2%1 

(C) 1%2%1] 3%1         (D) buesa ls dksbZ ugha None of these 

 

3- ,d iks"kh Lrj ls nwljs iks"kh Lrj esa LFkkukarfjr mtkZ dh ek=k fdruh 
gksrh gS\ 

 



Energy transferred from one trophic level to another is :- 
 (A) 5%       (B) 10%            (C) 50%                 (D) 15%  

4- fuEufyf[kr esa ls fdl dk;Z ds fy, thu xu dk mi;ksx gksrk gS\ 
Gene gun is used in which of the following work ?    

 

 (A) IykfTeM dks dkVus ds fy, To cut the plasmid 

(B) DNA dks dkVus ds fy, To cut the DNA 

(C) DNA ds 'kqf)dj.k ds fy, To purify DNA          
(D) fotkrh; DNA dks vfrFks; dksf’kdk esa igq¡pkus ds fy, To Introduce alien 

DNA into host cell.  

 

5- ijkxd.k ds ckg~; ijr esa ik, tkusokyk dkcZfud inkFkZ gSA  
An organic substance that is present in the exine of Pollen grain is :-    

 

 (A) fyfXuu Lignin             (B) Liksjksiksysfuu Sporopollenin 

(C) D;wfVdy Cuticle              (D) lsY;qykst Cellulose 

 

6- esaMy ds dk;Z dks iqu% fdlus [kkstk\ Mendel’s work was rediscovered by       

 (A) g~;wxks Mh czht Hugo de Vries   (B) b&okWu 'kesZd E-Von Tshermack 

(C) dkWjhu~l Correns              (D) buesa ls lHkh All of them 

 

7- izkjaeu dksMksu dkSu gS\ Which is initiation Codon ?   

 (A) UUU        (B) AUG               (C) UAG                   (D) UGA  

8- fgefxfj fuEufyf[kr esa ls fdl Qly dh iztkfr gS\ 

“Himgiri’ is a variety of which of these crop ?    

 

 (A) eDdk Maize           (B) xsgw¡ Wheat 

(C) fepZ Chilli                      (D) xUuk Sugarcane 

 

9- vko`rchft;ksa esa dkSu lh dksf’kdk nks uj ;qXedksa dks mRiUu djrh gS\ 

Which cells give rise to two male gametes in angiosperms.    

 

 (A) dkf;d dksf’kdk Vegetative cell   

(B) tuu dksf’kdk Generative Cell 

(C) y?kqchtk.kq Microspore 

(D) y?kqchtk.kq ekr` dksf’kdk Microspore mother cells 

 

10- xksYMsu jkbl es dkSu lk foVkfeu ik;k tkrk gS\ 
Which vitamin is present in Golden Rice?    

 

 (A) foVkfeu ,0 Vitamin A                 (B) foVkfeu B12  Vitamin B12 

(C) foVkfeu lh0 Vitamin C     (D) foVkfeu Mh0 Vitamin D 

 

  

 

 

 

 



GROUP-B/[k.M&[k.M&[k.M&[k.M&cccc    
                                 (Very Short Answer Type question)                      2222×3333=6666 

vfr y?kqmÙkjh; iz’u     
11- ijh{kkFkZ ladj.k D;k gS\ What is test Cross ?   

12- izfrca/ku ,atkbe dks ifjHkkf"kr djsaA ,d mnkgj.k nsaA  
Define restriction enzyme. Give one example.  

 

13- ikni laj{k.k ds dksbZ nks y{; crk,¡A  

Give any two aims of plant conservation.   

 

 GROUP-C/[k.M&[k.M&[k.M&[k.M&llll    
                                           (Short Answer Type question)                                3333×3333=9999 

y?kqmÙkjh; iz’u    

 

14- vkuqokaf'kd :ikarfjr ikS/ks D;k gS\ ,sls nks ikS/kksa ds mnkgj.k nsaA  
What is genetically modified plant? Give any two examples of such plant.  

 

15- gfjr Økafr D;k gS\  

What is green revolution ?    

 

16- fn, x, fp= esa A, B, C, D,E  ,oa F  dk uke fy[ksaA 
 

 

 

 

 

 

Write the name of A, B, C, D, E and F in the given picture.  

   

 

 GROUP-D/[k.M&[k.M&[k.M&[k.M&nnnn    
                                           (Long Answer Type question)                            2222×5555=10101010 

nh?kZ mÙkjh; iz’u    

 

17- ijkx.k D;k gS\ ijkx.k ds fofHkUu ek/;eksa dh O;k[;k djsaA  

What is pollination ? Describe about the various means of pollination.    

 

 OR/vFkokvFkokvFkokvFkok     

 DNA f}dqaMfyuh dk ukfer fp= cuk,¡A  

Draw a well labeled diagram of DNA double helix.   

 

18- f}ladj ladj.k D;k gSa\ mnkgj.k ds lkFk O;k[;k djsaA  
What is dihybrid cross ? Describe with suitable example.      

 

 OR/vFkokvFkokvFkokvFkok     

 ty iznq"k.k D;k gS\ ty iznq"k.k ds fofHkUu lzksr D;k gSa\ ty iznq"k.k ds 
fu;a=.k ds D;k mik; fd, tk ldrs gSa\ 
What is water pollution ? What are various sources of water pollution ? What measures 

should be adopted to control water pollution ?    

 

 



 

 

 

Section – B 

(Zoology) 

                         

Total Marks 35 
 

 Group A [k.M&v[k.M&v[k.M&v[k.M&v 
 (Multiple choice/objective Type question) ¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½    

Select the correct answer lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa         1111×10101010=10101010    
 

19- ljVksyh dksf’kdk,¡ ikbZ tkrh gSA Sertoli Cells are found in :-     

 (A) ,MªhUy dkWjVsDl esa adrenal cortex  
(B) vXuk’k; esa pancreas  
(C) vaMk’k; esa Ovaries        
(D) 'kqØtud ufydkvksa esa Seminiferous tubules  

 

20- iznq"kd tks vEyh; o"kkZ dk dkjd gS %& Pollutant which cause acid rain is :-     

 (A) SO2   (B) CO2                                  (C) CO               (D) Hydrocarbons   

21- thoksa dk muds izkd`frd vkokl esa laj{k.k D;k dgykrk gS\ 
Conservation of organisms in their natural habitat is called :- 

 

 (A) ckg~; LFkkus laj{k.k Ex-situ conservation              

(B) var% LFkkus laj{k.k In situ conservation 

(C) a ,oa b nksuksa both (a) and (b)             

(D) buesa ls dksbZ ugha None of these  

 

22- fuEufyf[kr esa ls dkSu lk gkWjeksu ekuo vijk }kjk lzkfor gksrk gS%& 
Which of the following hormone is secreted by human placenta :-    

 

 (A)  HCG                   (B)  Estrogen                 (C)  LH                   (D)  FSH   

23- oa'kkxfr ds xq.klw=h; fl)kar dks fdlus izfrikfnr fd;k\ 
Chromosomal theory of inheritance was proposed by :-    

 

 (A) g~;wxks Mh czht Hugo de vries    (B) okVlu ,oa fØd Watson and crick 

(C) lVu ,oa cksosjh Sutton and Boveri  (D) gsafdax Henking 

 

24- hn-RNA dss 5' fljs esa feFkkby xqvkuksflu VªkbQkWLQsV ds tqM+us dh 

izfØ;k dks D;k dgrs gSa& 

Methyl guanosine triphosphate is added to the 5' end of hn-RNA in a process of :-      

 

 (A) vkPNknu Capping           (B) iqPNu Tailing  

(C) laca/ku ¼leca/ku½ Splicing       (D) buesa ls dksbZ ugha None of these 

 

25- ;kSu lapkfjr jksx dk pquko djsaA Select the Sexually transmitted disease -   

 (A) VkbQkbM Typhoid           (B) dksysjk Cholera 

(C) flfQfyl Syphilis           (D) eysfj;k Malaria 

 



26- tsy bysDVªksQksjsfll dk mi;ksx gksrk gS &  Gel electrophoresis is used for -    

 (A) DNA v.kq ds i`FkDdj.k esa isolation of DNA molecule             
(B) DNA dks [kaM esa dkVus esa Cutting of DNA into fragments. 

(C) DNA [kaMks dks muds vkdkj ds vuqlkj vyx djus esa Separation of 

DNA fragments according to their size                      
(D) iqu;ksZtu DNA ds fuekZ.k esaA Construction of recombinant DNA 

 

27- o.kkZa/krk ls ihfM+r O;fDr fuEUfyf[kr esa ls fdudh igpku ugha dj 
ikrk\ 
A person suffering from colour blindness can not recognize :-    

 

 (A) uhyk ,oa gjk jax Blue and green colour   
(B) yky ,oa gjk jax Red and green colour  

(C) yky ,oa ihyk jax Red and yellow colour  

(D) yky ,oa uhyk jax Red and blue colour  

 

28- ikojksVh cukus esa fdldk mi;ksx gksrk gS\ 
Which one is used for preparation of bread ?     

 

 (A) ySDVkscSflyl Lactobacillus                  (B) ,lijftyl  Aspergillus  

(C) ,l0 ljfolh S. cerevisiae     (D) LVªsIVkscSflyl Streptobacillus  

 

 GROUP-B/[k.M&[k.M&[k.M&[k.M&cccc    
                                 (Very Short Answer Type question)                      2222×3333=6666 

vfr y?kqmÙkjh; iz’u    

 

29- izfrtSfod dh ifjHkk"kk fy[ksaA ,d mnkgj.k nsaA  

Define antibiotic. Give one example.  

 

30- Dyksfuax laokgd ds nks mnkgj.k nsaA  Give two example of cloning vector.   

31- vkstksu fNnz D;k gSA vkstksu fNnz ds D;k dkjd gSa\ 

What is Ozone hole? What are the causes of Ozone hole.     

 

 GROUP-C/[k.M&[k.M&[k.M&[k.M&llll    
                                       (Short Answer Type question)                                3333×3333=9999 

y?kqmÙkjh; iz’u    

 

32- iks"kh Lrj dks ifjHkkf"kr djsaA ,d ikfjra= esa vi?kVd dh D;k Hkwfedk gS\ 

Define trophic levels – What is the role of decomposers in an ecosystem ?   
 

33- HIV laØe.k ds fofHkUu ek/;e D;k gS\ 
What are the various means of HIV transmission ?    

 

34- rhu izdkj ds RNA dk uke fy[ksaA izksVhu la’ys"k.k esa muds dk;ksaZ dh 
O;k[;k djsaA 

Write the name of three types of RNA. Explain their role in protein synthesis.  
   

 

 GROUP-D/[k.M&[k.M&[k.M&[k.M&nnnn     (Long Answer Type question)      2222×5555=10101010 

nh?kZ mÙkjh; iz’u    
 

35- esaMy ds oa’kkxfr ds fl)karks dk mnkgj.k lfgr o.kZu djsaA  
Describe Mendel’s Laws of inheritance with suitable examples.     

 



 OR/vFkokvFkokvFkokvFkok     

 iqu;ksZtu DNA izkS|ksfxdh ds izØeksa dh O;k[;k djsaA  

Give an account of the process of recombinant DNA Technology.    

 

36- ,d iw.kZ fodflr ekuo 'kqØk.kq dh O;k[;k fp= dh lgk;rk ls djsaA  
Describe the structure of mature human sperm with the help of well labeled 

diagram.      

 

 OR/vFkokvFkokvFkokvFkok     

 Match the following columns /fuEufyf[kr LraHkksa dk feyku djsaA fuEufyf[kr LraHkksa dk feyku djsaA fuEufyf[kr LraHkksa dk feyku djsaA fuEufyf[kr LraHkksa dk feyku djsaA      

 Coloumn I Coloumn II 

(A) Spermatogenesis  (i) Blastocyst  

(B) Progesterone (ii) Ovum 

(C) Implantation (iii) Testosterone  

(D) Leydig’s Cell (iv) Seminiferous tubule  

(E) Zona Pellucida  (v) Corpus leuteum  

LraHk&LraHk&LraHk&LraHk&I    LraHk&LraHk&LraHk&LraHk&II    
(A) 'kqØk.kqtuu (A) dksjdiqVh 
(B) izkstsLVsjksu (B) vaM dksf’kdk 
(C) varjksZi.k (C) VsLVksLVsjksu 
(D) ysfMx dksf’kdk (D) 'kqØtud ufydk 
(E) tksuk isY;qflMk (E) ihr fiaM 

 

 

 


